
Name: 　　　　　　　 Datum: 　　　　　　 Ergebnis: 　　　

vier Brüche, Reihenfolge der Operationen

60 × ÷ 6 + =
2
1

4
3

+ × + =
2
1

2
3

2
1

2
1

− × + =
5
3

3
2

3
2

5
3

+ 1 × ÷ 1 =
3
1

2
1

+ × + =
2
3

4
3

6
1

5
1

− − × =
3
1

2
1

3
2

4
3

+ − × =
3
1

2
3

5
3

3
1

+ × − =
3
1

6
1

2
1

2
3

+ + × =
2
3

2
3

4
3

5
2

+ 55 × ÷ 5 =
6
1

4
3

www.snowmath.com

https://www.snowmath.com


Name: 　　　　　　　 Datum: 　　　　　　 Ergebnis: 　　　

vier Brüche, Reihenfolge der Operationen

60 × ÷ 6 + = = 5
2
1

4
3

4
23

4
3

+ × + = = 1
2
1

2
3

2
1

2
1

4
7

4
3

− × + =
5
3

3
2

3
2

5
3

45
34

+ 1 × ÷ 1 =
3
1

2
1

6
5

+ × + = = 1
2
3

4
3

6
1

5
1

40
73

40
33

− − × = (− )
3
1

2
1

3
2

4
3

3
2

+ − × = = 1
3
1

2
3

5
3

3
1

30
49

30
19

+ × − = (− ) = (−1 )
3
1

6
1

2
1

2
3

12
13

12
1

+ + × = = 3
2
3

2
3

4
3

5
2

10
33

10
3

+ 55 × ÷ 5 = = 8
6
1

4
3

12
101

12
5

www.snowmath.com

https://www.snowmath.com

